Answer Key

Lesson 6.4

Challenge Practice
1.

Statements Reasons
1. £4= L BCD 1. Given
2. L ADC is a right angle. 2. Given

3. LBCA = £ A4ADC

4. NABC ~ ANACD

3. Right Angle
Congruence Theorem
4. AA Similarity

Postulate
2.
Statements Reasons
1. A= LBCD 1. Given
2. L ADC is a right angle. 2. Given
3. £ CDB is a right angle. 3. Linear Pair
Postulate

4. L BC4A = L CDB

5. AABC ~ ACBD

4. Right Angle
Congruence Theorem
5. AA Similarity

Postulate
3.
Statements Reasons
1. A= LBCD 1. Given
2. L ADC is aright angle. 2. Given
3. L CDB is a right angle. 3. Linear Pair
Postulate

4. LADC = L CDB

5. AACD ~ ACBD

4. Right Angle
Congruence Theorem

5. AA Similarity
Postulate

Longer leg of AACD  Longer leg of ACBD

" Shorter leg of AACD  Shorter leg of ACBD

AD _ CD
CD  BD
By definition CD, the altitude of A ABC is the geometric mean of AD and BD.
5. a. AJKN ~ APMN; AJKN ~ ALMK,
ALMK ~ APMN b. KM = 13.33 in.;
MN = 6.67 in.; LM = 8.67 in.; MP = 4.33 in.
c.3:1;3:2;2:1 6.10i1n.



Answer Key

7.
Statements Reasons

1. UVWXY is aregular | 1. Given
pentagon, UW || YX

and UV || YW.
2. WX =XY 2. All side of a reg. pentagon are =.
3. WXYZis arhombus. | 3. Two opposite sides are parallel and two adjacent sides are congruent.
4. L X =L WZY 4. Opposite 4 in a [T are congruent.
5.4 WZY =L VZU 5. Vertical Angles Congruence

Theorem

6. LX=/,LVZU 6. Substitution

7. LYWZ = LZUV 7. Alternate Interior Angles Theorem
8. LYWZ =L WYX 8. Alternate Interior Angles Theorem
9. LZUV = L WYX 9. Substitution

0. AVZU ~ AWXY 10. AA Similarity

Postulate




